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Do not write
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Answer all questions in the spaces provided box

1 Circle the value of the digit 2 in the answer to 5200 + 10
[1 mark]
2 20 200 2000
| /
2 Solve x—8=5
Circle your answer.
[1 mark]
x=-13 x=-3 x=3 x=13)
3 Circle the fraction that is equal to 2%
[1 mark]
7 9 2 2
4 4 4 4

02
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Circle the expression which means  x divided by y

[1 mark]
y 1 1
/ ; Xy x+y
Put these numbers in order from smallest to largest.
31 3 e 0.725
40 4 10
[2 marks]
0150 O+100
f 25 B o S
q| /$£2+L§+o S TS _ a5 /
- —  {0° v B
LH) N l o o
X
ne Smallest O T 00 ! ?[0
__ 0125 0725
X
6150 et
s | 3L
Largest o 0 11 1 L[—O
\/Ml " (O(R?é(
ordl

Turn over b
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6 Josh downloads album A.
A has 11 tracks.
Each track on A costs the same.
The total cost of downloading A is £8.80

Josh also downloads album B.
B has 14 tracks.

6 (a) Work out the total cost of downloading B.

Assume each track costs the same as a track on A.

11 Tradks o _ _

[3 marks]

_ 30p % Il Tads = %JL&O/_ I

I
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6 (b) In fact, compared to the cost of each track on A ’
the cost of 6 tracks on B is more by 5p each
the cost of 8 tracks on B is less by 5p each.
What does this tell you about your answer to part (a)?
Tick one box.
/ The total cost is less than my answer to part (a)
The total cost is more than my answer to part (a)
The total cost is the same as my answer to part (a)
Give a reason for your decision.
[2 marks]
oce dads (8-6) ae of Yo joue
Orice than Hhe Nshef, +6 ~£ goneel
‘{QU x\(\j 2 -{:—."q S _{d Sfﬁ less /
Turn over for the next question
5

Turn over »

L
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7 The pictogram shows information about the houses in a street. box
Each house has 3, 4 or 5 bedrooms.
Key: /|_|\ represents 2 houses
N A 2+2+ 242
| 3-bedroom houses (_,2\ @ @ /I_,2\ ﬂ‘: | =y k1 2q
34—bedroom houses I @ /|_|2\ /|_2__J\ @ @ =7 242+ 24252
' g o ] =|o
| 5-bedroom houses | @

=1
L . / F7 24| =8
In total, how many bedrooms do these houses have?

[3 marks]
A howses hawe 2 pedmoms so Ax 3 =277
/ + . 4+
/1o houses howe b bedttons s loxli= 4o
L/ SN B
B horgs he 5 bedfons . 3x5= IS

e
27+l +S — Z 2

o

o msver __ 32 bed toomg ‘/_ _

I
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Do not write

Four positive whole numbers add up to 84 o™
One of the numbers is a multiple of 17
The other three numbers are equal. i\_\
What are the four numbers? ) Il\\‘
) S ‘\\\ [3 marks]
/’/ K I
0 Y
T 4+ ¢ + o4 1Tn =34
So Bx+1Tn=84 _/_ I
me}(, alc the 17x teble R 11
17, 24, S| , 68 ,|8S . ue. -
7 7 7 o
Answer “ H H_ S l
WRidh ch.({:'{:{feﬁ(ﬁ M:wun gtp ancl [Tn 1e )
f
Ab)sthle by 37
S —68= |6 X ndk N Zxtebk A
gl —St= 35 / yes! 2wl = /
Turn over for the next question
6

Turn over ¥
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9 Jim wants to buy 10 rolis of wallpaper.

He sees these prices.

t

Wallpaper
Singleroll  £12.50 % 100}l s = %,zg

__Packof3rolls  £34.50 /

_Pack of 5 rolls £58.75

,,/"'
e

/,..,-"
' What is the ql?ré;pest price for 10 rolls?
|' f [4 marks] |
S o ok e 7 PR
of /%0l x U packs (3 net-erough as enly 9 tolls)

7

[ => ks x 3k 50 —‘—_—7,9138//

of 3 Sodls X 2 paeks

= 7 ks ¥E5875 = EliTs0
= : - l

_.C)\ecx peg it fack ol 5 !:bﬂs

answer £ | 11-50 /

L
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10 In fectangle ABCD
e ,____",_-—'—-—-____"'-—_\

| triangle(ABE is equilateral »

/' triangle CDE is isoscelés, ith CE = DE

Do not write
outside the

[}ﬁ\ q“ éac box

Not d
A acourately
60, )
-y X=FE ¥ x""'_ )\6(? k{b b@éS due

20 as !65 —Yq0-£5 0P b;\\g}ﬁc
A e =25° “also 257
cengle / As Fsosceles

Work out the size of angle x.
[4 marks]
a’m? £ =X
_th)_ﬂ £ = %60 —6b—x —
Lt = |8 —25 —2S /

o 360 -6 —x— =

00 -20c = | 30

09

70 = 2=

Answer T — l 70 — _?)5 ~~ degrees

Turn over »
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11 (a) Complete the number machine.

Input / Output

_ ‘2 S [1 mark]

5a+10 Sq';; = A+2Z  Hen 2 -2

= A
11 (b) Write down the output y in terms of x. i\ e 3 = ld\ov’c 7
Input Output
+2 +4
. X ; x [1 mark]
Answer U= X +4 / =
o <J 2 7

L
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- — —  — ——e— lf(%g”'l .
j\? .’-'\ ] ] L;Ztggev%tee
12 The first four triangular numbers are 1, 3, 6, 10 g & 2 ia total box
Circle the next triangular number. +\; \4{4' g o e § ™ tetal
elc [1 mark]
14 @ 16 19
L//
13 Write down all the prime numbers between 40 and 50
y [2 marks]
L], 43, 4T ([(9) o
7 7 {s
4
W g Y OF L e o g )
| r b s aoA 77— T

Answer L‘}’ I u’ _.3 L}’ 7

_ Vv for ny S‘/\l\j*/é eflov

Turn over for the next question

Turn over &
11
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14

L

Do not write
outside th

In this questlon use box

{1 cubic foot = [ 6.23 gallons ) /
\1 cubic foot = 0.028 cubic metres fzak v S .

Converg“{31 15 gallons into cubic metres.

! N [3 marks]
S ——

Bofh M\C same. SO b ZSqaL = ZDMCB_?@

gl m> _/_
£33 0028 | 5 359l sy
| 2i)S 7 61350l /

Answer T [ 1 y
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15 Circle the correct statement. box
[1 mark]
1< 30% 12 30% 1 < 30% 1% 30%
3 3 3 3 /
v
0
/‘Z 22+ 2333 . . % Se movethon
)
5 /o
16 Which shape must have rotational symmetry?
Circle your answer.
[1 mark]
isosceles triangle trapezium kite
/ ;
VA
2 /N
' |
/]
[ = -
l I! N /
\\ ;;" ‘ /
/| ) tould hawe
! fone # \le
( DU\\d )\(Ne/
None
Turn over for the next question , 800 [ 0{"717{4
dlwe)®
5

Turn over »
13
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17 A shop sells ice creams.

Each ice cream has two scoops.

The possible flavours are vanilla (V), strawberry (S), chocolate (C) and mint (M). ‘

The two scoops can be the same flavour or different flavours.
17 (a) List all the possible options for the two scoops.
\ S CC MM
vs o scoen
v ¢m
V

[2 marks]

nokice {'Ao;,f‘c VS ad | ;/\/”V nek= cinded e

. /
as dhis i the Same jc@LEam

M

IB/M/Jun19/8300/3F
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'| Do not write
{ outside the

17 (b)  In one hour the shop sells 180 scoops of ice cream. box
‘ The number of scoops of each flavour is shown in the table.

Flavour Vanilla Strawberry | Chocolate Mint
- +
|
Number of 45 75 50 10
‘ scoops 5

Complete the pie chart to represent the data. |
[4 marks]

| .
Nes draumy \
| acca&&@ !
| notleg la
[Jox 2

o 2x/%"=3%0°

&

 Crecke He table %
|' | Abbugl Valus | Fbins vz Ansle. |

Ver us | Yol Ve | AD°
| <t 7S ( 7 20 / T / |.D°

Ol 50 | ol '“Pur| [

M| 1[0 | Yeo | % | 70°
\ 150 1 [ w |

[ O / i T i ] / /%OL 1/

Turn over »

M
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18 On the grid, draw an enlargement of the triangle W|tl1'scale factor — I\a,ff ‘H\Q

J/SIZZ [2 marks]

’S?QZ ‘Q(tm | 0\ Cb'y ﬂﬂft)‘“o'/)
o« D_HMDA

e
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19 (a)  Simplify fully 3% +T7a+3-a*+8a—4 o
[3 marks]
_Sa*=a® +1at8a, 43 -4 .
Answer _201__2_4-_-1_ a - /
|
19 (b)  Factorise fully 24y° — 20y |
\ [2 marks]
Pu}g&”gﬂ}y 2X2%2X 3x. Y Y —2X¥2X5xY
fhe |sume / 2527 (2x2xy - 5)
:\ﬁ 1‘)9% én Ll-b\ ( 6 ‘1 “S)
He suk stde
Answer Z‘*‘L'] [6@»”—5) /
20 Solve X2 =196
/ [2 marks]
=116 use calcclotsr -
Answer , L,'- / .
| 5

Turn over »

MR
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L

18

To the nearest pound, Jon has £9
To the nearest 50p, Ellie has £6.50

Work out the maximum possible total amount of money.
[3 marks]

oo halfuny i 150
2% 21t 5% may s £9- 4E -

s g bhdbus 1 4675
So_mox 1S %5 s /

4’

Total pex 38 TH + 6-1¢

Answer £ 123 /

This %Ae%‘{*@"\ s @ abouk u‘a()af bounds
T, WA wa\Oltﬁr cﬁV\t’fﬁb’%
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‘ 22 Here is a formula. outside he
2 12
T= n2_ E = 5 I
! 55
22 (a) Workout7when n=5 — et I
[1 mark]
| T=95-2-i4 B
Answer — 2 Qi’é /’/ )
22 (b) Why is T"always positive when # is negative?
[2 marks] |
| _buhp_ﬂ_ﬁ_t\> ﬁ‘f’g} 'H\O\ N l's f/)O.S -
gk — X - = 4 -
@,@06"“@
| - _ - L
dse =12 hen pisneg s ==
Kt —=
‘ = CNJ - £ - = 4+ -
: 4
‘ fo T= pws* + pos
' 44’% 2 positive
|
6
¥ . - o . - _ Turn over »
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23 In one hour a machine can make ox

600 nuts = [ hoe™ 6001\"‘/’75/H\f S

or

720bolts. = P& hon /2D bolts / i e

At 3_pm trle machine starts working.

I_t_r_r_1akes 90_0 ~nuts\and then changes to making bolts. "
A A

/" How many bolts will the machine make by 8 pm?

_ A/V_‘lté—i /f Y - )

[4 marks]

| _ stagk 9%(’ P )

s Dom + \het he = LtZpm
S g

Bolts Lt 30pm __—-'W _
%CKHT - _TIZ_ . l

Voo 2N+ Vohe X T20bs prhr |

395 }‘720 5
Answer 2520 bo).}'rs /

2 0
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24 Two solids, J and K, have the same density.

Complete the table.
Include units in your answers.

J K
Mass 48 g 7849
7z I
Volume 8 cm® 1/| 3 “4.‘2 9

Density 6 % 3 6_9 /CM\;

B Do not write

outside the
box

[3 marks]

/ \ Mmass — Jesty
M Volune

o\ . us / o e

-

Now  MA35 = yolure 5D

Turn over for the next question

AL

'_‘.-

f
|
!

/
/
/

183 - I D w3
Persity 65/m2

Turn over »
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25 Towns P, Q and R are connected by roads PQ, PR and QR.

“PRis 10 km longer than PQ.
QRistwiceaslongas PR.
The total length of the three roads is 170 km e

Not drawn
accurately

Work out the length of PQ.

PR+ Q€ + P& = |Tokn 7
(&“0) +\(‘2FK) F P& =170 |
(t@+10) + (2(fa+10)) +fa =110
Pa+lo v 2fa+ze +64 =170

[ s Answer
[/

[4 marks]

|
4 P& +20=]70
b F8. =40

fa=1%"—=35 }ﬁfﬁ I
L
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26 Mia wants to borrow £6000 and repay it, with interest, after two years.

She sees two offers for loans.

Offer 1 Offer 2

Compound interest Compound interest
3% per year First year 1%

Second year 5%

Mia says,
“I will pay back the same amount because the average of 1% and 5% is 3%"

Vs Is she correct?

You must show your working.
[3 marks]

. ‘ | 2
| ol Geoo ¥ 1:03 = -%-53659_407/

| -

olfy2  Gocoxl-olxl-05 =F(363 _~

’___’_,__.———‘)

> No Fe 1s nk ofrect as fhese two
bauwes afe AFH@M// | S

Turn over for the next question

Turn over b

L
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27 Here are two sets of numbers, A and B. |
Set A SetB l
200 160 270 400 483
104 100 300 X

mean of Set A: meanof SetB=3:8

Work out the value of x.
[4 marks]

Sk man (wenge) = oot Leos Lok +Hoo
> &

= 14|

Eg;[j_O_ L8 M ConS lﬁ%—’ X g to 1['{"0{ 0{'[\*//"\(.’641
= Mhean (‘)qﬁ 3’76 /

L w

Answer

Sk B heon =y 2T0+400 + 1483 +300 +%
‘ g

bok ths 15 476
o 376 = ggﬁ@%&tw—V

5x376 = 1452%% ) | 830 — (453 =X

—

e _i,. —‘._f__zq_: 1:::,;: —

2 4
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28 A straight line )
has gradie ta

and )
x 9
passes through the point (5, 23)

s
Work out the equation of the line. (/

Give your answer in the form y= nuq/x +c
[3 marks]

as _j_fQC“?AA- s Lt  He h=k o

So W=hxre 7
ﬂOM)_OUJQT I }::23'_ (}\Ol — 5 . -
— e /

25 =) C

13 = 20 ¥ C So C = 3

Answer

Turn over for the next question

Turn over &
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- | Do not write
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29 Two sides of a triangle have lengths 13 cm and 27 cm box
Which of these is a possible length of the other side?
Circle your answer.
[1 mark]
em 14.cm “o7 om ) M
«‘)’3 P , .
/T}\ &\F’ o M /
\Qﬂ 3 \e——> V_L?_—r/iZf‘
) - g —9 -
4 g t7’ ‘z’] e —
0‘ ‘;7 'Z- 2 ‘t U
30 Here is a right-angled triangle.
Not drawn
accurately
OﬂO — 13¢m 16 cm :}y‘p
S =opf
. Tt
Use trigonometry to work out the size of angle x.
[2 marks]

wse Gnv (s bhone = 54-.3G09...

- 0
Answer 5Q  degrees

END OF QUESTIONS
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